1IS-ISe| MTU k| EA

IS-1S(Intermediate System-to-Intermediate System) &2 A7} & MTU(Maximum Transmission
Unit) 2 7|2 TS ELIC}. 1S-IS Hello(lIH)E x| MTUO T 5= 70| MEB3te o|H2 2 =2
Uo| & B E= 1™ QIEH|o|A S| MTUZF YXISHK| eiot LR E = 7| HXIE = At ™
Lict.
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2t E 4|20l 2 =04 A no hello padding BE 2 AL&5t04 2t RE Q| 2 E QIE{m| 0| A0 CH
3t CHal 2 iAlE = U&LICH NH| T2 1S-IS Bt E T2 M|A 0| CHEr 2tRE |
0| 2 =0 M hello padding multi-point 55 = hello padding point-to-point 30| 1= point-to-
point £= QIE{H|O|A 0| CHEH MEAMO 2 oHHI & 4= Q&LICE 3t noisis hello padding /E{HH| O]
A Zn|aeo|lMd BES ALE5tod 7HE QIE{H 0| A0 M Hello THE & SHAIE == U&Lct

£ CIEHo|A S| MTUZt SLSHHLE et 22|20l B2 HEXHZ CHEES SH|5HK| L5 57|
2/ AFH2XHE hello THE S H|E A3 LIC}H Hello THE! O] HIE A8t E|0{ = SQF Cisco EHREE
%2 5702] 1S-IS hello &/ 0] M| MTU 27|12 MAZILICH Ol= MTU ELUx| HMO| 0|ME {K|
ot7| {8t JL|ct A& E €2 = O o4 Y E|X| k&L Ct

0I

Ol EMoIME= IS-ISE AldStE IAE F 2HRE 2| QUE{H 0|A 0 MTUZF LXISHK| &S [ g
sle 482 204 ELICH Router F2| MTUZF mtu 2000 QIE{H| 0| A Z4I|18|0|M HEIS AL 6l0d
7|22t21 15008 0| E 0| A 2000HO|ER B A E|R& LICH 2= QIE{m| 0| AT} "flapped" =R & LICtH
CEFM A MTU g2 M8 5t2{™ shutdown -2 2 Serial 02 H|& 44388t CHS no shutdown &
Ho 2 g dstatiof &LCt.
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RouterH
49.0001.4444. 4444, 4444

10.20.20.0:2 4

BtEH

clns routing
|

interface Serial0

no ip address

no ip directed-broadcast
no ip mroute-cache
encapsulation frame-relay
frame-relay lmi-type ansi
|

interface Serial0.1

ip address 10.10.10.4 255.255.255.0
no ip directed-broadcast
ip router isis
clns router isis
frame-relay map clns 132 broadcast
frame-relay map clns 131 broadcast
frame-relay map ip 10.10.10.1 132
broadcast
frame-relay map ip 10.10.10.3 131
broadcast
!
interface Serial0.2 point-to-point
ip address 10.20.20.4 255.255.255.0
no ip directed-broadcast
ip router isis
clns router isis
frame-relay interface-dlci 130
!
router isis
passive-interface EthernetO

clns routing

1

interface Serial2
mtu 2000

no ip address

no ip directed-
broadcast
encapsulation
frame-relay
frame-relay lmi-
type ansi

!

interface
Serial2.l point-
to-point

ip address
10.20.20.2
255.255.255.0

no ip directed-
broadcast

ip router isis
clns router isis
frame-relay
interface-dlci 103
!
router isis

net
49.0001.2222.2222.
2222.00

is-type level-1

352.1

Router F
49.0001.2222.2222.2222
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net 49.0001.4444.4444.4444.00
is-type level-1

F 2h B 25 0{A show clns neighbors BEES A& 504 2t E FoF 2B H 7Fo| Q14 4/ El
E =olg = gLt 2tRE Fo| E30|M E2HRE{ HO| 212 INIT &Efol| A& LICH 2tHE
He| £20iM 2t E{ F2l 1Mol IS f&0|1 ZZ EZ0| ES-IS(End System-to Intermediate

System) 2 &Qlg = U&LICH O] E22 14 gie WE ST MH|A(CLNS) 2I--go X7t

Router_ H# show clns neighbors

System Id SNPA Interface State Holdtime Type Protocol
Router_F DLCI 130 Se0.2 Up 294 IS ES-IS
Router_G DLCI 131 Sel0.1 Up 7 Ll IS-IS
Router_E DLCI 132 Sel0.1 Up 27 Ll IS-IS

Router_F# show clns neighbors

System Id Interface SNPA State Holdtime Type Protocol
Router_H Se2.1 DLCI 103 Init 26 L1l IS-IS

debug isis adj-packets @HE2 AFE 5101 IS-IS Q1M T2 CIHZE S &858t B2 Router F = C}
Serial 2.1 52| QIE{|O| A0|AM EI2 IHE ELiT 245t 742 stolsr & ol |0}

Router_ F# debug isis adj-packets

IS-IS Adjacency related packets debugging is on

ISIS-Adj: Sending serial IIH on Serial2.1

ISIS-Adj: Rec serial IIH from DLCI 103 (Serial2.l), cir type L1, cir id 00
ISIS-Adj: rcvd state DOWN, old state INIT, new state INIT

ISIS-Adj: Action = GOING UP, new type = L1

ISIS-Adj: Sending serial IIH on Serial2.1

ISIS-Adj: Rec serial IIH from DLCI 103 (Serial2.l), cir type L1, cir id 00
ISIS-Adj: rcvd state DOWN, old state INIT, new state INIT

ISIS-Adj: Action = GOING UP, new type = L1

ISIS-Adj: Sending serial IIH on Serial2.1

ISIS-Adj: Rec serial IIH from DLCI 103 (Serial2.l), cir type L1, cir id 00
ISIS-Adj: rcvd state DOWN, old state INIT, new state INIT

ISIS-Adj: Action = GOING UP, new type = Ll

ISIS-Adj: Rec serial IIH from DLCI 103 (Serial2.l1l), cir type Ll,cir id 00
ISIS-Adj: rcvd state DOWN, old state INIT, new state INIT

ISIS-Adj: Action = GOING UP, new type = Ll

ISIS-Adj: Sending serial IIH on Serial2.1

O] £242 21 E{ H7} Serial 0.20{ A Router FZERE IIIHE $4I51X| &t S & E 0]
1IS-1S Q1Mo FME|X| f&Lct Al @12 ES(End System) I L|C}.

L|Ct. 2k A

I

Router_H# debug isis adj-packets

IS-IS Adjacency related packets debugging is on

ISIS-Adj: Rec L1 ITH from DLCI 131 (Serial0.1l), cir type 1, cir id Router_H.01
ISIS-Adj: Sending L1 IIH on SerialO.1

ISIS-Adj: Rec L1 ITH from DLCI 131 (Serial0.1l), cir type 1, cir id Router_H.01
ISIS-Adj: Sending serial IIH on Serial0.2

ISIS-Adj: Rec L2 ITIH from DLCI 132 (Serial0.1l), cir type 3, cir id Router_H.01
ISIS-Adj: Rec L1 ITH from DLCI 131 (Serial0.1l), cir type 1, cir id Router_H.01
ISIS-Adj: Rec L1 ITH from DLCI 132 (Serial0.1l), cir type 3, cir id Router_H.01
ISIS-Adj: Rec L1 ITH from DLCI 131 (Serial0.1l), cir type 1, cir id Router_H.01

ISIS-Adj: Sending L1 IIH on SerialO.1
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Router_ F#

configure terminal

Enter configuration commands, one per line.

Router_F (config)# interface serial 2
Router_F (config-if)# mtu 1500

Router_F
Router_F

(
(
(
(

Router_F (config-if)#

Router_ F#

O|XN| 2t

Router_ H#
System Id
Router_F
Router_G
Router_E

Router_F#

System Id
Router_H

Ct.

config-if)#

shutdown

~Z

)
config-if)# no shutdown
)

E{ Het 2t E F7t HIO|H7t [0 MZ ol EBfEE Bt

show clns neighbors

SNPA Interface
DLCI 130 Se0.2
DLCI 131 Se0.1
DLCI 132 Se0.1

show clns neighbors

Interface SNPA
Se2.1 DLCI 103

Router_ F#configure terminal

Enter configuration commands, one per line.

Router_ F (config)#interface serial?2
Router_F (config-if)#clns mtu 1500
Router_F(config-if)#"7Z

Router_ F#

2 He

. 1P 2t

g X3 1 o[x|

. 1S-1S X| ¢ HO|X|

ISIS-Adj: Rec L1 IIH from DLCI 131 (Serial0.1l),
ISIS-Adj: Rec L2 IIH from DLCI 132 (Serial0.1l),
ISIS-Adj: Sending serial IIH on Serial0.2
ISIS-Adj: Rec L1 IIH from DLCI 132 (Serial0.1l),
ISIS-Adj: Rec L1 IIH from DLCI 131 (Serial0.1l),
ISIS-Adj: Rec L1 ITIH from DLCI 131 (Serial0.1l),
=

EAe| ol

WH7F 213 9] M& MTUO| R E BHHES "2 =

cir
cir

cir
cir
cir

A MTU 27|12 TS £ K|

type 1, cir
type 3, cir

type 3, cir
type 1, cir
type 1, cir

id
id
id
id
id

Router_H.01
Router_H.01

Router_H.01
Router_H.01
Router_H.01

oo o

Ls ——

222

E

E{ F7F MTUZ} 20000|2t 1 M2Ztst D 2t E
HO|A R A|E|= 2000H}O|E helloE M& 57| 2o ghAisthL|C}

End with CNTL/Z.

State
Up
Up
Up

State
Up

MTU 2 x|Z2 QI8 CLNS ™M EXIT 047|2F 20| cins mtu &

Holdtime
28

8

29

Holdtime
24

End with CNTL/Z.

El
=]

e

Type Protocol

Ll
Ll
Ll

IS-IS
IS-IS
IS-IS

Type Protocol

Ll

IS-IS

HE AE

5to4 a4

a3 A
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